8.56-2.861-3.55=] |-355=] |

@ 5.599, 2.049 @5.699, 2.149 ® 5.599, 2.149

@ 5.699, 2.140 ® 5.689, 2.049

8.56 — 2.861 — 3.55 = 5.699 — 3.55 = 2.149




8459} 7} 2A] &
1 3.437 + 4.287 = 7.724( kg)




o= 5 2E A =25 7F el 7 7P 22 A2 o]
7!

@D 327.05 @ 15.04 ® 285
@)34.005 ® 0.051

in

A4

@005 @5 305 @®0.005 G005




4. 25 MWAS SHAL,

7.05
—1.982

6 91410
T8
-1.982
~5.068




oWl Sl 3251 & whok & 2 FR5te] AW 16.09 7t H
FUTh HR2A AL Guprh B TakA 2.

> E:

> =g 9.588




Aol LA Hlo]ZE 8053m 7HAIL 9L, WIHA Ho|ZE
=

w2b] Hlo]: Bk 1.064m AA 73 Qg A40)7 A1
QU Al o] e} Wb Hlo]mo] ol B melx] FakAl L.

B m

>
> ®EH: 15.042m

A o] o] Zo]) = 8.053 — 1.064 = 6.989(m)
A glo]mo] Zo]o] g = 8.053 + 6.989 = 15.042( m)

(
(

i3l
=

=

=




1.54

ul
RO

=41

4.1-2.56 =1.54

+ 2.56

s




4o1740.6m Ql HIO| X 47HE 0.02m A A o] 021l gy, Ho|&

A dole 3 m7t =HFEA] kA L.

> E: m

> HEHD 2.34m

47]9] Hlo|Z g o]& o HAA L X2 37delth
(0.6 + 0.6 + 0.6 + 0.6) — (0.02 4 0.02 + 0.02)
=24 -0.06 = 2.34(m)




10] 9
0.19] 2

3 2k

0.0010] 5

10]9:9
0.1°]2: 0.2
0.01°] 3 : 0.03

0.001°] 5 : 0.005
wbA 9 + 0.2 + 0.03 + 0.005 = 9.235




10. 1 Hop A2 a5 A A2 £ F 7P 2 EH0.02 A2 S 4t
AY7F?

=
H -

>
> = 0979

| BT AR 4% A A2 4 F 74 2 4 0,999 YU
0.999 B} 0.02 F-L S 44 B4 2e] £27h 2 AL Soln
2 0.979 ¥yt




11.

ILo

g Fol7] 7ol 1l Wl o] A= 1.042kg 0] 1, 2O Soi3)
H) o] A= 2.193kg YUtk 2tHO] FA7F 0.227kg € W, &
A= 2 kg A FSHA L.

lo ¢

40 e &

B kg

>
> HE D 0924kg

(e FA)+ (29 FA)= 2.193 - 1.042
(B9 F7)= 2.193 — 1.042 — 0.227 = 0.924( kg)




